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QUESTION ONE   ( 14  POINTS) 
 

1- Which of the following is an extensive property of matter? 
 
a- melting point            b- boiling point       c- color d- mass 

 
2- The SI unit for volume is: 
 

a- m b- m2 c- m3 d- m4 

 

3- The number of significant figure in 0.0000635 is  
 

a- 8 b- 3 c- 7 d-9 

 

4- The correct expression for the answers of the following operations in scientific 
notation is 

) 279500 / (2.5x10 

            

a- 3.18x106 b- 3.18x10-3 c- 3.18x103 d- 3.18x102 

 

5- The melting point of sample is 213oC . calculate this melting point in Fo   
 
a- 235.4 b- 415.4 c- 595.4 d- 777.2 

 
  
6- Which of the following values is equivalent to 0.357 g 
 
a- 357 ng b- 35.7 kg c- 3.57x104 µg d- 3.57x102 mg 

 

 

7- The number of protons and the number of neutrons in the  Br35
79   nucleus is: 

 

a- 79 and 35 b-35 and 79 c-35 and 44 d- 44 and 35 

 

 

 

8- Which of the following elements is an alkaline earth metal 
 

a- Cs b- Kr c- At 
 

d- Sr  
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9- What is the formula formed by  calcium ions and phosphate ions? 
 

a- CaPO4 

 

b- Ca2(PO4)2 

 

c- Ca(PO4)3 

 

d- Ca3(PO4)2 

 

10- The mass percent of C (%C) in C2H3NaO2 is: 

 

a- 29.3 b-32.9  c-28.1 d- 25.0 

 

 
11- The element present in period 4 and group 3A is  
 
a- Ga b-Ge c-In  d- Al 

 

 
12- Which of the following names is correct 

a- Al2O3  Aluminum(III) oxide 
b- LiH   Lithium monoxide 
c- SCl2   Sulfur dichloride 
d- Mg(NO3)2 Magnesium dinitrate 

 
 
13- A mole of H2 

A- contains 6.022 x 1023 atoms 
B- contains 6.022 x 1023 molecules  
C- contains 1 g of hydrogen  
D- is 6 x 1023 g of hydrogen  

 
 
14- Calculate the number of moles of H2O formed when 0.200 mole of Ba(OH)2      
 
     is treated with excess HClO3 according to the chemical reaction shown below. 

          Ba(OH) 2 + 2 HClO3                   Ba(ClO3)2 + 2 H2O 

 
a- 0.4 mol              b- 0.2 mol              c- 0.1 mol              d- 0.25             
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QUESTION TWO (     POINTS) 
  
Determine the empirical formula of compound that gives the following 

mass percentages upon analysis: 

           H = 0.91%      S = 56.67%        O = 42.42% 
 

 
 
 
 
 
 
 
 
 
 
 
 
QUESTION THREE(  4  POINTS) 
 
12.3 g Li ( molar mass Li : 6.94 g/mol ) reacted with 33.6 g of N2( molar mass 
N2 : 28.02 g/mol )  yielding 5.89 g of Li3N 
                           

                                    6Li (s) + N2(g) →2 Li3N(s)  
 
What is the percent yield of the reaction? 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                          Good Luck 


